
— 15 —

PLANETARY
R17N/H

MARMON-HERRINGTON ALL-WHEEL DRIVE
13001 Magisterial Drive • Louisville, KY 40223
(502) 253-0277 • (800) 227-0727 • Fax (502) 253-0317
E-mail: info@marmon-herrington.com PM06/08

1 MT14-1217 Planet Gear Pin 10

2 MT14-1218 Steel Ball 10

3 MT14-1219 Distance Plate 20

4 MT14-1220 Roller Bearing Assembly 10

5 MT14-1028 Planet Gear 10

6 MT14-1070 Fill Plug, Planetary Hub 2

7 MT17-1213 Drain Plug, Planetary Hub 2

8 MT14-1212 Sealing Ring 2

9 MT14-1211 Threaded Stud 2

10 11500773 Hex Bolt, M8x16-1.25 (285 BC) 10

11500723 Hex Bolt, M10x20-1.5 (335 BC) 10

11 11500191 Lock Washer, M8 (285 BC) 10

12 MT14-1029 End Cover (285 BC) 2

MT22-1156 End Cover (335 BC) 2

13 MT17-1128 Planetary Gear Carrier (285 BC) 2

MT92-1161 Planetary Gear Carrier (335 BC) 2

14 MT14-1025 Planetary Ring Gear 2

15 MT14-1026 Ring Gear Support Hub 2

16 MT14-1207 Retaining Ring 2

17 11500722 Hex Bolt, M10x25-1.5 12

18 MT22-1154 Snap Ring 2

19 MT14-1024 Sun Gear 2

20 MT17-1156 Distance Ring 2

21 MT17-1157 Friction Disc 2

22 MT14-1084 Snap Ring 2

23 MT22-1158A Shim, .25 MM AR

MT22-1158B Shim, .50 MM AR

MT22-1158C Shim, 2.00 MM AR

24 MT22-1159 Friction Disc 2

25 MT22-1153 Spacer 2

26 MT14-1223 Planet Gear Kit 2

(Includes Item #’s 1,2,3,4,5)

27 MT17-1235 Sun Gear/Friction Disc Kit 2

(Includes Item #’s 18,19,20,21,22,23,24,25)

28 MT17-1227 Planetary Gear Carrier Assy. (285 BC) 2

(Includes Item #’s 13 and 26)

MT92-1227 Planetary Gear Carrier Assy. (335 BC) 2

(Includes Item #’s 13 and 26)

AR = As Required

ITEM NO. MH PART NO. DESCRIPTION QTY. REQ. ITEM NO. MH PART NO. DESCRIPTION QTY. REQ.


